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#include
#include
#include
#include

#include

int chil

<sys/types.h>
<unistd.h>
<signal.h>
<stdio.h>
<stdlib.h>

d pid = -1;

void sigint handler (int signo)

{

void sig

{

kill (child pid, SIGINT);
wait (),

printf ("AFA EFE\n");
exit (0);

usrl handler (int signo)
printf("Q2| &FE\n");

signal (SIGUSR1, SIG_DFL) ;
signal (SIGINT, sigint handler);
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24 int main (void)

25 {

26 char ch;

27

28 child pid = fork();

29

30 if (child pid < 0) {

31 perror ("fork") ;

32 exit (1) ;

33 }

34 else if (child pid == 0) {

35 if (execl("./cook.out", "cook.out", NULL) < 0) {
36 perror ("execl");
37 exit (2);

38 }

39 }
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41
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54
55
56 }

else {

signal (SIGINT, sigint handler);

while (1) {

printf ("FESIAWASLI (v)™);
if (scanf ("%c", &ch) == 1) {
if (ch == 'y'") {

signal (SIGINT, SIG IGN);

signal (SIGUSR1, sigusrl handler);
kill (child pid, SIGUSR1);

nx

printf ("F& HE\n");

pause () ;
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#include <sys/types.h>
#include <unistd.h>
#include <signal.h>
#include <stdio.h>
#include <stdlib.h>

#define COOK TIME 10

void sigusrl handler (int signo);

void sigalrm handler (int signo);

void sigusrl handler (int signo)

{
printf ("child: =& EZh\n");
signal (SIGUSR1, SIG_IGN) ;
signal (SIGINT, SIG_IGN);
signal (SIGALRM, sigalrm handler);
alarm (COOK_TIME) ;

21 void sigalrm handler (int signo)

22 {

23 printf("child: 2| &&\n");

24 kill (getppid(), SIGUSR1);

25 signal (SIGINT, SIG DFL);

26 signal (SIGALRM, SIG DFL);

27 signal (SIGUSR1, sigusrl handler);
28 }

29

30 int main (void)

31 {

32 signal (SIGUSR1, sigusrl handler);
33

34 while (1) {

35 sleep (60);

36 }

37 }

38
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1 #include <sys/types.h>

2 #include <unistd.h>

3 #include <signal.h>

4 #include <stdio.h>

5 #include <stdlib.h>

6

7 int child pid = -1;

8 int active no = 0;

9

10 void sigint handler (int signo)

11 |

12 kill (child pid, SIGINT);

13 wait () ;

14 printf ("AtA EF\n");

15 exit (0);

16 }

17

18 void sigusrl handler (int signo)

19 {

20 printf ("Q2| &=F\n");

21 active no--;

22 fprintf (stderr, "active : %d\n", active no);
23 if (active no == 0) {

24 sigset (SIGINT, sigint handler);
25 sigset (SIGUSR1, SIG DFL);
26 }

27 }

28
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29 int main (void)

30 {

31 char ch;

32

33 child pid = fork();

34

35 if (child pid < 0) {

36 perror ("fork") ;

37 exit (1) ;

38 }

39 else if (child pid == 0) {

40 if (execl("./cook.out", "cook.out", NULL) < 0) {
41 perror ("execl");
42 exit (2);

43 }

44 }
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else {
sigset (SIGINT, sigint handler);

while (1) {
printf ("FESIAAESHI2 (v) ")
if (scanf("%c", &ch) == 1) {
if "y
if (active no == 0) {
sigset (SIGINT, SIG _IGN);
sigset (SIGUSR1, sigusrl handler);

C ==

}

active no++;

fprintf (stderr, "active : %d\n", active no);
kill (child pid, SIGUSR1);
printf ("FF HE\n");
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#include <sys/types.h>
#include <unistd.h>
#include <signal.h>
#include <stdio.h>
#include <stdlib.h>

#define COOK_ TIME 10
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typedef struct remaining list {

=
o

int secs;

=
=

struct remaining list *next;

=
N

} remaining list t;

[
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remaining list t *header = NULL;
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void sigusrl handler (int signo);

=
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void sigalrm handler (int signo);

=
o]
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19 void sigusrl handler (int signo)

20 {

21 remaining list t *tmp;

22 remaining list t *prev;

23 remaining list t *new el;

24

25 printf("child: F& EZX\n");

26

27 new el = malloc(sizeof (remaining list t));

28 new el->secs = COOK TIME;

29 new _el->next = NULL;

30

31 if (header == NULL) {

32 sigset (SIGINT, SIG IGN);

33 sigset (SIGALRM, sigalrm handler);

34 header = new el;

35 }

36 else {

37 header->secs = alarm(0);

38

39 for (tmp = header; tmp; prev = tmp, tmp = tmp->next) {
40 new el->secs —-= tmp->secs;

41 }

42 prev->next = new el;

43 }

44 fprintf (stderr, "new secs: %d\n", new_el->secs);
45 fprintf (stderr, "new alarm: %d\n", header->secs);
46 alarm (header->secs) ;

47 }

48
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49 void sigalrm handler (int signo)

50 {

51 remaining list t *tmp;

52

53 printf ("child: 22| &&\n");

54

55 tmp = header;

56 if (header->next) {

57 header = header->next;
58 alarm (header->secs) ;

59 }

60 else {

61 header = NULL;

62 sigset (SIGINT, SIG DFL);
63 sigset (SIGALRM, SIG IGN);
64 }

65

66 kill (getppid(), SIGUSRL);

67 free (tmp) ;

68 }

69

70 int main (void)

71 |

72 sigset (SIGUSR1, sigusrl handler);
73

74 while (1) {

75 sleep (60);

76 }

77}
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19 void sigusrl handler (int signo)

20 |
L=
37 else {
38 header->secs = alarm(0);
39
40 for (tmp = header; tmp; prev = tmp, tmp = tmp->next) {
41 new el->secs -= tmp->secs;
42 }
43 if (new_el->secs <= 0) /* edit for rapid orders */
44 new el->secs = 1;
45
46 prev->next = new el;
47 }
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